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1. Factor the polynomial completely. If the polynomial cannut be factored, say it is pnme

-l +1ed-36x 2 '~—X(X =g x + 18) =

o b
Select the correct choice below and, if necessary, fill in the answer box to complete your ghoice. v
: —2x (X —3)K— ©) ~/
(A _o3 1 18x% - 36x = (Type your answer in factored form.) 5 . L by
) B. The polynomial —2x° + 18x? - 36x is prime. -\") : V4
_) /
Answer: A. - 2x3 + 18x2 -36x= - 2x_(x = 6)(; N 3)f (Type your answer in factored form.) /
v/
4
ID: Quick Check PF.3.14 v
| N B . Foso by VY
2. Factor the polynomial completely. If the polynomial cannot be factored, say it is prime. oS5, L é::% l
H Z— A 4 ) — /
gy —2  ~2(r&rr—6) - . UL E
(2 ‘ 4 4
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. : =
~2(—2) ("+3) -
A 2P _ore12= (Type your answer in factored form.) = 02 b{/
o o . '\t" 17
(B, o2 o T ,
The polynomial —2r“ - 2r+ 12 is prime. Z ( V\/_ 9 > (V ’f 5 ) t..% ;. X .E\Li |
— B
Answer: A. - 2r2 -2r+12= : = 2(r + 3)(r - 2)| (Type your answer in factored form.) J ‘r: V
N N
A
AD: Quick Check PF.3.15 _—:vf;f—*“ =
= S—— _“‘_h = .-:.— e ———e D . . '-e-—-—_?_ __-‘- ‘"'
S =Tw T T Yéon "y — te, Al )
Solvetheeq amcn\dw (=2 ¥ / /6 Va / ) AT

YRy ,:"r - N W, - f
5 WA I ?Ujsy/f/L

4" +x" -16x-4=0 1\ )
C_/_{_ =S o LA
I's (('5: I N i

The solution set is { 3. \ == y \
(Simplify your answer.- ypaan mteger or a simpli &d fractmr\ilUse a co@na to separate answers as need d.) /fu < S /Q s
s Sgmthelic i sesmadd) /2052

Answer: _%,_22 ‘fo/ ’_7(“2’_ For
ID: PF.4.39 = (%( F(_ / Q(—— Z) =2 g ‘(__;’é,_ﬂ 7,
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4. Find the domain of the function.

f(x) = 1/ 4x - 20
The domain is :I (Type your answer in interval notation.)

Wswer: [5,00)

ID: 1.1.59
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5. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=4x +3; g(x) =6x ~ 1 ("-/-f j,;f// z
(a) Find (f+g)(x). Lot] + SE) <

V (F+9)x) = '(Simplify your answer.)(@”)(——;‘ ?/ "f /éll("’f ) .
Wh

30f32

at is the domain of f + g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. L["J(*fﬁ —f'("(j
) A The domain is {x| }. (f KL ¥ (

e
(Use integers or fractions for any numbers in the expressmn Use a comma to separata——— m—

answers as needed.) (-—f“ __/)( }(7
s — D)
( Cirs) — (é’(’(/

- T
What is the domain of f — g? Select the correct choice be?;w ancf Pneoessary.ﬂ in y nswer box to complete your
choice. — lu Aen

<"”"5/\/ +¥ TR
() A. The domain is {x } — -(/Vf /W) i

(Use integers or fractions for any numbers in the expressmn Use acommato separate.
answers as needed.)

.
() B. The domain is {x| x is any real number}. ( e ,? 2’ ‘-/)

(c) Find (f+ g)(x). (J{ e § #| 2
(fea)x) = (Simplify your answer.) (‘7’/»—(’ ,‘/ ./C X— | ) =

What is the domain of f- g? Select the correct choice belov-v and, if necessary, fill in the answer box to complete your choice.
A. The domain is {x| - } g (& ’L(/j(‘f/iK’B < e

(Use integers or fractions for any numbers in the expression. Use a ‘comma to separate L (1 ™
~ Q1€ hY

answers as needed.) @,{ — / A — 3 '/

B. The domainis {x| x is any real number}.
.,L

/ 74 P A ST
4
1’?‘/ / A Oxlrf = 7/
f
What is the domain of = —7? Select the correct choice below and;-if necesga .LII/nme/answer box to complete your choice:-

ii.A N
A. The domain is {x| A )/”’f & ¢

(Use integers or fractions for any numb rs.in the ressio «Use a comma to 5eparate )( ) /%

answers as needed.) (/«}f‘(/ /U’('—f’ ,

' B. The domain is {x| x is any real number}, St o P
(e) Find (f+ g)(4). (/7(7//?/ /(/C/).fl’/ Y Ran——
)@ T S

: | ] C 10027/2019,3:01PM

PG i (w M) g

) B. The domain is {x| x is any real number}.
(b) Find (f - g)(x).

(F- @)(x) =/ (Simplify your answer.)

{
i

f
(d) Find (E] (x).

f . .
(E] (x)=| (Simplify your answer.)
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f+g)4)= (Type an integer or a simplified fraction.) f— ) / W "Z /(’f (/
(9 Find (f~ g)(3). / // 9)z =7
(f-g)(3)= | (Type an integer or a simplified fraction.) ' — C — (/

(g) Find (f - g)(2). ‘ /’; 7) (,3) s == & !
(f-g)(2 =I (Type an integer or a simplified fra I\ =

e ) ( s ) W)= 2vx -3
1 Type an integer or a simplifie ction, ‘/)/L) ZV(E} —-/’/‘7’/2)—'3
(]”: ¢ Pf t/()f)“ 2¥(2)(2) ~f/f//) —3
B Thedomainis{x[msanyrealnumbe/ )/)( é Z/(( ((f/)’f/Y/ﬁ’l,) —_
_'2x+4 )(2) /6 ,_,9 27,.__.

B. The domain is {x| x is any real number / - (,L) - /Z'?//—}

', / DCEHID PP

‘*&

Answers 10x+ 2

g

B. The domain is {x| x is any real ngmbe

4x+ 3
6x—1 / & s{{ 3
A. The domain is {x| x#-;- : )4 (9[ (

(Use integers or fractions for any numbers in th expressnon Use a comma to separate answers as needed.)

- (j )/ [) - t,((,f )ijl
: (/ SOk 2’72 | /
o187 Q” ) 70- >




f(x + h) = f(x)

6.
Find the difference quotient of f; that is, find h

A 00=x2-8x+1
' o+ h) = f(x)
Ween-u

Answer: 2x+h-8

, h#0, for the following function. Be sure to simplify.

ID: 1.1.83
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7.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?
T s

“No

any answer boxes within your choice. /e vy -( rod 7

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in
8 }/

o e e " _/‘/ o,
(A, T 'dom_ai_n'i(' e './{/-.Th “r/angg i
(Typé your answers in interval notation.)

B. The graph is not a function.

(-9, %

g/ (l)f ﬂm f'Z"V{IL_ |

What are the{ntercepts‘? 'Select tthe correct choice below and fill in any answer boxes within your choice.

X s\ ey o Lt

ok 3/0,)) @, @) (@, ¢

) "7»—-’-1‘( &y f-

ype an ordel/d pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

C. The graph is not a function.

Determine if the graph is symmetrical.

It is symmetrical with respect to the origin.

It is symmetrical with respect to the x-axis. )
It is symmetrical with respect to the y-axis. ¥

The graph is not symmetrical.

! i
[ ®
moomw>»

The graph is not a function.

Answers Yes

A. The domainis (=oo0,00) . Therangeis

(- ,2]

.(Type your answers in interval notation.)

A. [(3,0),( - 3,0),(0,2) (Type an ordered pair. Use a comma to separate answers as needed.)

C. It is symmetrical with respect to the y-axis.

ID: 1.2.21

50f32

10/27/2019, 3:01 PM
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8. Using the given graph of the function f, find the following. .'

(a) the intercepts, if any

(b) its domain and range =
(c) the intervals on which it is increasing, decreasing, or constant [ /
(d) whether it is even, odd, or neither

: <,i|,.o)-2: (I/()/
¢ F V"'[LL '
ﬂte‘;c»??ts?' "" (I‘ZZ\LV: e~ P [“' =< |
":;q/ (J) (// x)) (O /) )\*(_ 134&7'1,,

(Simplify your answar Type an ordered pair. Use a comma to separate answers as needed.

(b) Thtiodomamls [— 3 3 ( & [ //( V7 J(/Z

(Type your-gnswer in interval notation.)

The(ﬁngeié_ﬂ‘_a (A"'—_’ \1,4{._&_\ 7-,3,1,:;;?_(

(Typeyour answer in intérval notation. )

I/< ‘7//-4 L"" “/ﬂ ’I(

(a) What are

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

._" ,-?- y
& A The graph ;s(ncreasmg on [ /) [ L /) "(
(Type your answer in interval notation. Use a comma to separate answers as needed )

(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

'- ) A The graph is@ecreasm on )/
(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

() A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)
{}'ﬁ The graph is not constant on any interval. s

I

(d) The function is (1)

e

(1), & even. -
{7 neither odd nor even.

odd.

6of32 10/27/2019, 3:01 PM
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Answers (- 1,0),(1,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasingon | [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on | [- 3, - 1},[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25

7 of 32 10/27/2019, 3:01 PM
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9. The function f is defined as follows.

-2x+5 ifx<1
f(x) =
4x -1 if xz1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

d) Based on the graph, find the range.

(@) deomain_.‘of the function f is

Vi TN
Lo ) ﬁ" '.'{ (; }f/)/f )
(Typeyeur-dnswer in interval notation.) /

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The i@t(s) is/are ( ¢/ ) ) D,
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.
(c) Choose the correct graph below.

-~ 4

O A. )

) Th:ﬁhgéb?thefundionfisl / '5' ,?.}C;") & (f; P /“/-‘m) 707
\ _

(Type ranswer in interval notation.)

Answers (= 00,00)

A. The intercept(s) is/are (0,5) |, - 2)(—/ B ;[" )(</ /

(Type an ordered pair. Use a comma to separate answers as needed.) e

Y /) =
LV.;\. C{()Lc.) 3 }ﬁ/)(/ 4/(’_—__ , /3/')(3/
% /M(rl\ - (—/Z N
i /r’ﬂ’l(}( - / z_/ \\
A
[3,00) 7’//”';’ /9 } |

8of 32 b 10/27/2019, 3:01 PM
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10. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) F(x) =f(x) +2 (b) G(x) =f(x +2) (c) P(x)= —f(x)

1
#(d) Hx) =f(x +1) -1 (e) Q(x) = —f(x) ) a(x)=f(-x)
3

(9) h(x) =f(2x)

(a) €hoose the correct graph of F(x) =f(x) + 2 below.

(d) Chqose the onrrect\graph of H(x) = f(x + 17’ 1 below. : o
N :7‘_ R furr down
OB Shel [£e O\ —d LD.

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

90f32 10/27/2019, 3:01 PM
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/(Q X
#(

(f) Choose the correct graph of g(x) = f( - x) below.

O A. O B.

(g) Choose the correct graph of h(x) = f(2x) below.

/A

O B. Oec. O D.

10 of 32 10/27/2019, 3:01 PM
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Answers

ID: 1.5.63

11 of 32 10/27/2019, 3:01 PM
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11.
(a) Graph f(x) = |x . 4| - 2 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 10"_
that lies below the x-axis. Nl
(a) Graph f(x). Gl
(Use the graphing tool provided to graph the function.) 4:
(b) The area of the region bounded by f and the x-axis that 2__ §
lies below the x-axis is | square units. e L s o
(Simplify your answer.) 10 o D5 g 2‘ € W8 19
i}
-6
B

Answers

ID: 1.5.81

12 of 32 \ — 10/27/2019, 3:01 PM
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12. Find lhwf the quadratic function using the%quaregnot method ‘What are the x-intercepts of the graph of the

function Q(,_L) i
2 =
x)=(x—-2)"-9 ‘ C
90 = (x-2) Ja-ot = 9
Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

separate answers as needed.) X"___ 2 = -+ 2

,. The zeros and the x-intercepts are different. The zeros are , the x-intercepts

R are - {-¢ =-3 or X2

() B. The zeros and the x-intercepts are the same. They are @4& . . ! —_—
(212 ==3#C X—1 A2 < 37T

Answer: B. The zeros and the x-intercepts are the same. They are, 5-1

o 1D:2329 ( ) )( _:i p. // 0{{ =

L//

13. Find t@s if any, of the quadratic function using the adratlcformula What are-the: rltercepts if any, of the graph

?fthe nctioh? 7%(/ Z)( T Y)< -7 @// X~ ) !‘17 =7 .“J

=8x2-3+4x .7 - e
f(x) = 8x> - 3+ 4x =& [7 ¢ C.o-7 -

P4

V 4
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. S—— < 4 ]

— e

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use aeomn'ia to-
separate answers as needed.
p ) /c, /me/“’
(" A. The zeros and the x-intercepts are the same. They are . /" '
The zeros and the x-intercepts are different. The zeros are , the x-intercepts
) B. are
i)y €. There is no real zero solution and no x-intercept.
-1+ «/_ -1- «[_
Answer: A. The zeros and the x-mtercepts are the same. They are ‘ a I+
- ~+
A/ "(‘f) /f-’// 9,(5,)(_?) _ wﬁ /:_r‘/l/_
{ —

ID: 2.3.47 2C7) / l )( Sl )

y- 717 L-'/?; i’f 76 y- — - VT

b 7

X i "“’t/ T L’W ‘l/ a '_’/ _..)»t/ / (/{"//
/b '

Ry Al
e /

X =X +ys Vs

3 e e —
/(C’ e e e 10/27/2019, 3:01 PM
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14. Find the W thé@ﬂjn/What are the x-intercepts of the graph of the function?
9(x) =x - 34/x - 40 gfi’ )(,— 3!/" —Y0 = O

Select the correct choice below and fill in the answer box to complete your choice.

(1 A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are

) . . , the x-intercepts
jO B. are s
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.)

Answer: A. The zeros and the xntercepts are the same. They are | 64 |.
basrs X —%0 2 BVX  rewrib. ¥
(X~79) & 6uz)" Sdwet btk Siti,
( X '*'%/{(’f w) < (3 ‘(VA?/L ,
' G ap—qonr (00 = (B (VR
XL =504 7 /600 G (%)
Kt —Gox #/60 = 5« |
/Z'——ia;( F/60v T oK =2 e wei b
Xt — 39X /600 = (D

(kﬁ%f@

JR N=ECv7 (s 07 ¢y

K/2/4erdfzfz

A D 61 X767

i




(zg-)—-z(/zs— =Yoo O
2y —3(5) —Fo=0
26 — [ —%e = O

FO=F0 - &
— 28 = O ﬂ/‘/JD

Try XZ6w Yy

/,_,3(/-._,_9/0:0
(Y =3 —Fo =
4§ .__)/57) Yo = I
Gy — 2¥ —4e= (O3
Y6~ 0T O




15. Find the r{re_r; of the quadratic function using @y method you wush ‘What are the x-intercepts, if any, of the graph of
the function? —

G(x)=8x% -6x -9

Select the correct choice below and fill in the answer box to complete your choice.

'y A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
‘‘‘‘ * are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

A p -y —9 = _
_ ID23810( f, l;'i—é (/k ( i
: l N et |
L W \
(X 2 ce ) H 7[(/ o m h(ﬁ -
- «(«g) H/Ee) — W)=
2 (7)
)( <6 T3+ 2F7
| /6
yc 67T (/32
/G
J &= cr 17
/G
= 6"}"/{3’ &/Z

14 of 32 10/27/2019, 3:01 PM
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(L

For the quadratic function f(x) = x - 2x - 3, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

es the graph of f open up or down?

https://xlitemprod.pearsoncmg.com/api/v1/print/math

vy

up
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

16 of 32

() down 20 -16

161

12 16 20

——
[+ 19

220
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/‘F'v‘_'_'_'_'______-_-_-ﬂ_‘_ >

SHARKS «ﬁ&«;?o -
af ht = , \
o T el ;;f,;w
x=1 ML =1
wpt(\) is/are ‘ Tt ~ an

ce /
(Type an integer or a decimal. Use a comma to separate answers as needed ) )¢ /
~ I e, 4

; — nish
A. Tmteroept is | 3 I (Type an integer or a demmaﬁ N “'w/ 01 ; ) 7 R s S
y

Answers up 8

(1.-4

(=00,1] er }/;,7;\)( (L \2\
ID: 2.4.37 AN~ in = — 12 | \\% 57
~ 1> ) ;
,f%?(“/ - Cc,cwé»#d//

17 of 32 10/27/2019, 3:01 PM
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17.

For the quadratic function f(x) = - 2x2 —-2x -5, answer parts o]
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its 8
graph opens up or down and by finding its vertex, axis of :
symmetry, y-intercept, and x-intercepts, if any. 4

The graph of f opens (1)

The vertex of f is { -10
(Type an ordered pair.)

The axis of symmetry is |
(Type an equation. Simplify your answer) -6

Determine the y-intercept. Select the correct choice below -8
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval [
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

18 of 32 10/27/2019, 3:01 PM
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1%

A. The y-intercept is f

B. There is no x-intercept.

ID: 2.4.43
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e 4{ ’_3;( — LY x—;
18. Determine, wrthaut grapht’ng whether the given quadratic function has a maximum value or a minimum value and then find

the value. v/ JV y Upras Kasey S ’_I, 1S }4’1.1‘)( V"f .

f(x)= - 3x° +24x 6 ==3% b= ZY = /
- 2&\ (

Does the quadratic function f have a minimum value or a maximum value? Y —L‘A:

(1 The function f has a minimum value. e oL l ( (< £) ( e~ ) }}

() The function f has a maximum value. c’( 3 ) ) z -1 )

7y L ~ = L/ 2t
at is this minimum or maximum value? l/ e / . / ( -

(Simplify your answer.)
V/Lr ¢ -—3:: £ 2y( )"—6)
Answers The function fhas a max&mum alue (/ (f ) y

42 = | Y, ”} (e)fy /) T gy/g)—-k erly, =
‘/”Lj, = (/ —3(16/ (4 - y ‘l/t)
ID: 2.4.59 Verlt, (‘C/j -7 f?é'*‘; } 1 ex f}/

19. Construct a polynomial function that might have the given graph.

1AL () =xP(x - 4)(x - 5)

O B. 002 xbe=Aix=5) e — A< = L
O oc f=xx+ax+5) N X !

) D. f(x)=x (x+4)(x+5)

Answer: C. f(x) =x(x +4)(x + 5)

ID:3173 L A

X()(—r%)/)(ﬂ‘ 5) ER

(0

20 o£32¥
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— _' z Yo s i
) = (X =[N =3 77-3, BERRY
20. Use the rational zeros theorem to fi nd all the real zem? of the polynomial function. Use the zeros to factor fover the real
numbers. U S ¢ 57.4/«/,/-& v &y = ( -~ —af ; ~ 3 47 v '~.r Les &
3 2. M= =L — AP

f(x)= x —x -37x-35
[ -l —3,5 (Y w357 U

'Fmd the real zeros of f. Select the correct choice below an&il if necessiry. fill in the answer box to compfate yom" answer:

Lw L él-b"»/\ e

O A x= | 7(""4-’2;( —3 5= @ 4y LTS ]

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or / o [ /
fractions for any rational numbers in the expression. Use a comma to separate answers as

needed.) ( e w ' — ) > D 2 /
() B. There are no real zeros. . )( T 5. & / A h Vuf 5i ZJZ(
Krs o o4 X—7 =
Use the real zeros to factor f. _
e = () Gt ] T
f(x) = /(_fr’-" T O on X~=/717 /
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed Use integers

or fractions for any rational numbers in the expression. ) —_— \\\
S e 2 Ox ( A

AnswersA.x=_t -5 =-1,7 I
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any

rational numbers in the expression. Use a comma to separate answers as needed.)

(x+1)(x +5)(x - 7) e VZ)_(«/< - (/
o

ID: 3.2.45
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A ‘L«es ,-\"[L a7 kljl\J b\,fjm Yuw _iu,.&l}

21,
For the function F(x) = (a) graph the ratio| /al funchon using transformations (b) use the fiy aI graph to fi nd the s \
n. N,
N - —
domain and range, and (c) use the final graph tg'list an ertrca honzcntal (obllque asymptote&f L] T ,2« — )
o bflom =0 NI
oD, ~7~_-p ¢ =<
y ="
\ 20 ( f X~ 6//2)
x X o
ol > (A= (=
70 J /20 20
d - L/L
Q / (Vf/ ¢ U( @51.)! 7 r_rf 4/:- L
-(b) What.is.th in of the-given functlon'7 Select the correct choice below and, if ﬁecessary, ﬂl in the answer box to
_——completa mur choice. ) ) - Y l _ .
(‘“ = > % S e [ ()(( - /_‘_}
i ) - §
A, The domain of the given function is {xIx is a real number, x> b X
(Type an integer or a simplified fraction.)
() B. The domain of the given function is {xlx is a real number, x < } S
(Type an integer or a simplified fraction.) [
(2 C. The domain of the given function is {xlx is a real number, x# S
(Type an integer or a simplified fraction. Use a comma to separate answers as needed ) .
() D. The domain of the given function is the set of all real numbers. ( b{/
."“; |

22 0f 32

What is the range of the given function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice. =
Py ’Cﬁw{rgw“ ? 5 ﬂy;!y»/ \j pirepe .}

(A The range of the given function is {y|y is a real number, y > >
(Type an integer or a simplified fraction.) P Sl

) B. The range of the given function is {y[y is a real number, y # } (S )( (/A } j

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

() C. The range of the given function is {yly is a real number, y< B ’)( 3_ “F x’
(Type an integer or a simplified fraction.) /S < "\'f
) P e
() D. The range of the given function-is-the set 6f all real numbers.
S"/‘/)c_{ / f < 5£ Dyt Uin fo/ﬂ‘;‘“ /L %/\J‘ )
(c) What is/are the vertical asymptote(s)? Select the rrect choi be!ow and, if nec?s ry, fill in the answer box(es) to 1.{’ 25
complete your choice. a /1 Sorn . WA FFh e S 7 O
ijf_ih& 451;‘}-1 1‘0" I
() A. The left vertical asymptote is . The righit veftical mptote = S \\

b'c /?Z\

% (FX £3)- (x‘/)

f

(Type equatlons Use integers or fractions for any numbers in th quatlons )

" Yy L
() B. There is one vertical asymptote. It is C; (/ / (2L,

(Type an equation. Use integers or ﬁ:ac ns forany- nurnbers innlhe equatlo

) €. There is no vertical asymptote: Lo lr\u{ U
—iMin =2
What is/are the horizontal asymptgte(s)? Select the correct choice below and, if rﬁpessary, fill in the answer box(

complete your choice. X—mceL = }a C.d
7fh’lu\ = =27 \/15(7 ( L(
() A. The top horizontal asymptote\js . The bottom horizontal asy ptote is
\ Yol = 2V ‘/ M'V:;P'
. 7 47 f02713015, 3:01-PM
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(Type equations. Use integers or fractions for any numbers in the equations.)

What is/are the oblique asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

A. The oblique asymptote with the positive slope is and the oblique asymptote
with the negative slope is :
(Type equations. Use integers or fractions for any numbers in the equations.)

B. There is one oblique asymptote. It is .
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

Answers B.

C. The domain of the given function is {xlx is a real number, x# 0 b
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

C. The range of the given function is {yly is a real number, y < 5 P
(Type an integer or a simplified fraction.)

B. There is one vertical asymptote. It is x=0
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. There is one horizontal asymptote. It is y=5
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

ID: 3.4.43
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22. Find the VBI'ﬁCjIIL horizontal, arébliquigsymplotes. if any, for the following rational function.
" __,f/ _—

12x
X+12

R(x) =
Select the correct choice below and fill in any answer boxes within your choice.

) A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

i) B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

(0 A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -12 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = _' 12 |.(Use a comma to separate answers as needed.) ™
B. There is no oblique asymptote. s A / Z /<
\ /(7 ﬁ() SR -
|
D: 3.4.45 //// - ;,‘(“

/4',;,1 by Jot”

ohy P
hioks b Mt

S 14

$e b A 44 /’ AT A
ﬁu/-/m .
o \7[/ WA @ ci’ é’// ja.zé, S5y 07l

HofiBe . 10/27/2019, 3761 PM
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23. Forf(x)=2x+ 3 and g(x) = 3x, find the following composite functions and state the domain of each.

(@) fog (b) gof (c) fof (d) gog
(@) (fog)(x) = ' (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A. The domain offogis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o g is all real numbers.
(b) (g o f(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of g o fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o f is all real numbers.
(c) (fFof)) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of fo fis {x | b
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o f is all real numbers.
(d) (g o g)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A. The domainofgogis {x | 'M}.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o g is all real numbers.

Answers 6x + 3
B. The domain of f o g is all real numbers.
6x+9
B. The domain of g o fis all real numbers.
4x+9
B. The domain of f o f is all real numbers.
9x

B. The domain of g o g is all real numbers.

250f 32 10/27/2019, 3:01 PM
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M
. L
' ,T’Ke function f(x) = 4x - 2 is one-to-one.

(a) Find the inverse of f and check the answer.

(b) Find the domain and the range of fand f '

(c) Graphf, f~ 1, and y = x on the same coordinate axes.

@f )= i
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice,

e
i
).

A,
1 B.

The domain is {x|x #
The domain is {xlx <

() €. The domain is {x|x>

(O D.

The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if

necessary, fill in the answer box to complete your choice. #.-" 7/

X
Yoo

() C. Therangeis {ylyz 3

() D. The range is the set of all real numbers.

() A. The range is {yly o

() B. The range is {y|ys

_ /
Find the domain of f 1. Select the correct choice below and, if

necessary, fill in the answer box to complete your choice:

|

b
Yoo
).

" A. The domainis {x|x#

() B. Thedomainis {x|xz

") C. The domain is {x|xs

) D. The domain is the set of all real

numbers.

Find the range of f L . Select the correct choice below andrif’--
necessary, fill in the answer box to complete your choi

(1A The range is {Y|V#

L) B. Therangeis {ylyz
C. Therangeis {y|ys }
() D. The range is the set of all real numbers.

(c) Graphf, f~ L , and y = x on the same coordinate\axes. Use
the graphing tool to graph the functions. E

28 of 32
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X+2

Answers — . L,/ )( —
- P
D. The domain is the set of all real numbers. @/,_ e

D. The range is the set of all real numbers.

D. The domain is the set of all real numbe 4
D. The range is the set of all real num@

Ay
20-

-

ID: 4.2.53

25. the equation.
16 -x+27 = azx

The solution set is
(Type an integer or a S|mpI|f ed fractlon Use a comma to separate answers as needed. )

N 2 S X /0F 52

ID: 4.3.73 —7 i - 7’/0/ §1)< =
—r X 1TT =TT
—4 ¥ T s —/7d ¢

— ¥ X—< - sx —soF7— X ,,;'ﬁ--';_"iiél-i'{‘

¥ x—s X ey
—Ci( — "_/() 'j — Z_LLZ—;\H“
— DK Y ?

A2 > (Guret])
29 0f 32 1072773019, 3:01 PM
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26. Solve the equation.

log,(2x+3)=5 ) il é’(’(,‘////
. . : “
. - . . 2= X 3
Change the given logarithmic equation to exponential form. ‘ 2 3
— ZZZ/Z‘ X
(Type an equation. Do not simplify.) } é - 2/( 7 ’g

e solution setis { }- )-) ( — v . 4 )(««-f’/?”’]
& - Ix
/ .

(Simplify your answer. Use a comma to separate answers as needed.) Z

Answers oy 4 3 = 2%

29
2

ID: 4.4.91-Setup & Solve

B — - —

27. Solve the logarithmic equation.

7

log x+ log(x+48)=2

Determine the equation to be solved after removing the logarithm. / U

— S0 < ;
- 1 PRV e

(Type an equation. Do not simplify.) O < X e (7é l;( /

() A. The solution set is { } =0

(Simplify your answer. Type an exact answer. Use a comma to separate answers as

) needec'i) | — )(”Z*fZ ZJdr+rl ol /—F\(J_fb‘
() B. There is no solution. Q}/’ (0/6\\ | < X""’ K_. d/\ C — ;.__

Answers x(x +48) = 10° ZU (Z)“’(L’ (2—( }“// l
| (u (L) +Con (ST

(Simplify your answer. Type an exact answer. Uﬁe a comma to smgte :adwars as neede 1.)

| éu(sﬂd)—f@ﬁ‘“’)* )
D: 4.6.17-S_etup&SoIve CUL) (*’_fv ) (s ( %/)649 2

A. The solution set is 4

p——— e : = — = :
' 28. Find the amount that results from the ghlili\r:vestment& _? //( [t ,c’.:)/‘/(— i. [ P m
@ vested@compounde(iaim/yaﬁerapegd@ ) 5‘/<) 22 %.062

After 2 years, the investment results in $| 4 — '7()LJ ‘ ’0/) 9
(Round to the nearest cent as needed.) ﬁ ( g & /(/ & Q e Le- /

VAnswer72849 % -~ 700 (-/—_f £ %ZA/Z) LL’L‘ y’x/%
A 7Zf ?7??3}7/

ID: 4.7.7 B — e -. :
AT
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r \ L A}(
29. How many years will it take for gn initial investmentlof ﬁa,o‘gmo’ growhto $75,Dt_)_0't?éﬁssuma a rate of interes@; j (
ded conti Iy |/ " — . A e U= : =
| comaundegGoninouls 7 <000 = BuneE T E 2 s ) - TFELELL
It will take about years for the investment to grow to $£_5.0/00-.'/ ,ﬂ ( Z . f) - JU5E(/) '
. =) c]- ™ >, — o
(Round to two deci | places as needed.) A = o O L
P oo — 3udo (2. 5) = =9
————— . & FOOdL Vo 1Y v i
swer: 18.33 [ JUOJ~ .

bl KWZ [ Y6y = (¢

Zﬂ = 6 ' '»_r(: . — /(’/_r
ID: 4.7.41 %(205,)_:/% {,U/ﬂ' 37 «l éC’ .E(_](»wi{__
— — —— =

ROACH > EoAcil™

30.

Uninhibited growth can be modeled by exponential functions g’fﬁg _t_hh‘a\ (t) =Ag e kt.__For example, if an initial population™
= 1 — ik
“ ‘ . @f
Py requires n units of time @l_e_ then the functiofy P(t) = Py(3) ~_moe (Fshe. of the population at time-t-Ami

populatio mm;@g_){ponentially. Complete the parts a roﬁg'h'ﬁ'sl 5w, A
P PoAc i+ g .
C(,a) Ifth pulaﬁen-fnpies iieo days, apd 60 insects are
~ t ¥y - y

/ : 1 ' inil . itz ’ er -5 AN .
P(t) = P0(3)F that models the population. (( / / / . ga ( }) /:'(c/ | \
(v5)c 80(3) " (7¢ry N
3233170770

Pt) = i

( (b) What will the population be in 46 days?
—— ==,
The popu!ation@ s will be \
(Round to the nearest integer as needed.) -
~ A
@:)/x_dmen will thé poputation rea@?_ )
The population will reach 900 in | | days.
(Round to one decimal place as needed.)

P
(d) Express the model from part (a) in the fo@e/
P(t) = } e

Answers t
60(3) >0

323

ID: 4.8.32-GCJ{%& =
. / b3
o hfr) - 3
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[

31. Solve the system of equatlons If the system has no solution, say that it is inconsist
) ﬁ!"w 2 (_ 3‘7 QI? !_’}_ — f )\
{ 2x -3y=-3 M__—Z_ /'_/_, = }\}
5x +y =18 [7)( - 5——/ & S
Select the correct choice below and, if necessary, fill in any answer boxes within your choice. Sm 2 ) »Z
() A. The solution of the system is x= andy= i z X— 3 7
(Type an integers or simplified fractions.) 205} — [ /
(L) B. There are infinitely many solutions. Using ordered pairs, the solution can be writtenas
{(xy)Ix= .y any real number}. by — 3 ] z =3
(Simplify your answer. Type an expression using y as the variable as needed) o — G
() €. The system is inconsistent. &= 2 / <
= 3 7
Answer: A. The solution of the systemisx= 3 | and y= ,{. Fd = =3
(Type an mtegers nr«s:mphﬁed fractlons ) ons) & q R i i
- 5 S T
. j =3 y
ID: 6.1.33
—— . aa — = e

32. Solve the given system of equations. If the system has no solution, say that it is inconsistent. ‘
20D N7 etrix el £y (A ) 344
-~ " /
— r
2x+ y+ z= 4 = - ( T < / Z'f
-3x+2y-2z=-17 (/,]) = Z ,/ / ¥ .
-3 PAR -] “1

Select the correct choice below and fill in any answer boxes within your choice.

X=2y+3z= 12

() A. The solution is x = Y= ,andz=
integers or simplified fractions.)

(_) B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xyz2) | x= y= , z any real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

() C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= .y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

-~

() D. The system is inconsistent.

Answer: A. ‘ _ -
The solution is x = Ly= -3 ly L andz= 1 | (Type integers or simplified
fractions.) ?[
h/[) /%L//\//\/M(‘// ‘/ Ve ()
ID: 6.1.45

VreE
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